
BOLLETTINO UNIONE MATEMATICA ITALIANA

LEONARD CARLITZ

The relationship of the Hermite to the Laguerre polynomials.

Bollettino dell'Unione Matematica Italiana, Serie 3, Vol. 16
(1961), n.4, p. 386–390.

Zanichelli

<http://www.bdim.eu/item?id=BUMI_1961_3_16_4_386_0>

L'utilizzo e la stampa di questo documento digitale è consentito liberamente per motivi di ricerca e studio. Non è consentito l'utilizzo dello stesso per motivi commerciali. Tutte le copie di questo documento devono riportare questo avvertimento.

*Articolo digitalizzato nel quadro del programma
bdim (Biblioteca Digitale Italiana di Matematica)
SIMAI & UMI*

<http://www.bdim.eu/>

The relationship of the Hermite to the Laguerre Polynomials.

by LEONARD CARLITZ (a Durham, U. S. A.) (*)

Summary. - Given two sets of orthogonal polynomials $\{f_n(x)\}$, $\{g_n(x)\}$ and put

$$\Phi_{2m}(x) = f_m(x^2), \quad \Phi_{2m+1}(x) = xg_m(x^2).$$

We seek conditions such that the set of polynomials $\{\Phi_n(x)\}$ will be orthogonal.

It is well known (see for example [2, p. 102] that the Hermite polynomials can be expressed in terms of the Laguerre polynomials with the parameters $\pm \frac{1}{2}$ by means of the formulas

$$H_{2m}(x) = (-1)^m 2^{2m} m! L_m^{(-\frac{1}{2})}(x^2),$$

$$H_{2m+1}(x) = (-1)^m 2^{2m+1} m! x L_m^{(\frac{1}{2})}(x^2).$$

This suggests the following problem.

Given two sets of orthogonal polynomials $\{f_n(x)\}$, $\{g_n(x)\}$, put

$$(1) \quad \Phi_{2m}(x) = f_m(x^2), \quad \Phi_{2m+1}(x) = xg_m(x^2).$$

We may ask under what conditions will the set of polynomials $\{\Phi_n(x)\}$ be orthogonal.

It will be convenient to assume, as we may without loss of generality, that the highest coefficients of $f_n(x)$ and $g_n(x)$ are equal to 1. We recall [2, p. 41] that the orthogonality of the set $\{f_n(x)\}$ implies the existence of a set of constants A_n , B_n such that

$$(2) \quad f_{n+1}(x) = (x + A_n)f_n(x) - B_nf_{n-1}(x) \quad (n=1, 2, 3, \dots),$$

where $B_n > 0$. Moreover the existence of such a recurrence together with $B_n > 0$ implies the orthogonality of $\{f_n(x)\}$ (Favard [1]). This suggests a slight generalization of the above problem. Let the $f_n(x)$ satisfy (2), where nothing is assumed about the sign

(*) Pervenuta alla Segreteria dell'U. M. I. il 15 settembre 1961.

of B_n ; also let the $g_n(x)$ satisfy

$$(3) \quad g_{n+1}(x) = (x + A'_n)g_n(x) - B'_ng_{n-1}(x).$$

Define the polynomials $\Phi_n(x)$ by means of (1). Since $\Phi_n(-x) = (-1)^n\Phi_n(x)$, we require that

$$(4) \quad \Phi_{n+1}(x) = x\Phi_n(x) - C_n\Phi_{n-1}(x) \quad (n=1, 2, 3, \dots).$$

For $n = 2m$, (4) and (1) imply

$$xg_m(x^2) = xf_m(x^2) - C_{2m}xg_{m-1}(x^2),$$

so that

$$(5) \quad g_m(x) = f_m(x) - C_{2m}g_{m-1}(x).$$

Similarly, by taking $n = 2m + 1$, we get

$$(6) \quad f_{m+1}(x) = xg_m(x) - C_{2m+1}f_m(x).$$

By (6) we have

$$xg_m(x) = f_{m+1}(x) - C_{2m+1}f_m(x).$$

Substituting in (5) we find that

$$(7) \quad f_{m+1}(x) = (x - C_{2m} - C_{2m+1})f_m(x) - C_{2m}C_{2m-1}f_{m-1}(x).$$

Comparison of (7) with (2) yields

$$(8) \quad A_m = -C_{2m} - C_{2m+1}, \quad B_m = C_{2m}C_{2m-1}.$$

If we eliminate $f_m(x)$ in (5) and (6) we get

$$g_{m+1}(x) = (x - C_{2m+1} - C_{2m+2})g_m(x) - C_{2m}C_{2m+1}g_{m-1}(x),$$

so that

$$(9) \quad A'_m = -C_{2m+1} - C_{2m+2}, \quad B'_m = C_{2m}C_{2m+1}.$$

This evidently proves

THEOREM 1. — Let $\{\Phi_n(x)\}$ denote a set of polynomials, such that $\Phi_0(x) = 1$, $\Phi_1(x) = x$ and

$$\Phi_{n+1}(x) = x\Phi_n(x) - C_n\Phi_{n-1}(x) \quad (n=1, 2, 3, \dots).$$

Then (8) and (9) uniquely determine two sets of polynomials $\{f_n(x)\}$, $\{g_n(x)\}$ that satisfy (1), (2) and (3).

If we make the stronger assumption that the $\Phi_n(x)$ form an orthogonal set, with weight function $w(x)$, this result can be proved very rapidly as follows. We have

$$(10) \quad \int_{-a}^a \Phi_m(x) \Phi_n(x) w(x) dx = k_n \delta_{m,n}.$$

Since $\Phi_n(-x) = (-1)^n \Phi_n(x)$, we may use (1) to define the polynomials $f_n(x)$, $g_n(x)$. Also (10) may be replaced by

$$(11) \quad 2 \int_0^a \Phi_m(x) \Phi_n(x) w(x) dx = k_n \delta_{m,n}.$$

Hence by (1)

$$2 \int_0^a f_m(x^2) f_n(x^2) w(x) dx = k_{2n} \delta_{m,n},$$

so that

$$\int_0^a f_m(x) f_n(x) x^{-\frac{1}{2}} w(x^{\frac{1}{2}}) dx = k_{2n} \delta_{m,n}.$$

Similarly by replacing m and n in (11) by $2m+1$ and $2n+1$, respectively, we get

$$\int_0^a g_m(x) g_n(x) x^{\frac{1}{2}} w(x^{\frac{1}{2}}) dx = k_{2n+1} \delta_{m,n}.$$

This proves

THEOREM 2. — Let $\{\Phi_n(x)\}$ denote a set of polynomials orthogonal over the interval $(-a, a)$ with weight function $w(x)$ and such that

$$\Phi_n(-x) = (-1)^n \Phi_n(x).$$

Then the sets of polynomials $\{f_n(x)\}$, $\{g_n(x)\}$ uniquely determined by (1) are orthogonal over the interval $(0, a)$ with weight functions $x^{-\frac{1}{2}} w(x^{\frac{1}{2}})$ and $x^{\frac{1}{2}} w(x^{\frac{1}{2}})$, respectively.

For example for the Legendre polynomial $P_n(x)$ we may put

$$P_{2m}(x) = R_m(x^2), \quad P_{2m+1}(x) = xS_m(x^2).$$

Then the $R_n(x)$ are orthogonal over $(0, 1)$ with weight function $x^{-\frac{1}{2}}$, while the $S_n(x)$ are orthogonal over $(0, 1)$ with weight function $x^{\frac{1}{2}}$.

Conversely we may assume that either the $f_n(x)$ or the $g_n(x)$ are assigned sets of orthogonal polynomials over the interval $(0, a)$.

Assume that

$$(12) \quad \int_0^a f_m(x)f_n(x)w_1(x)dx = k'_n\delta_{m,n}.$$

Then if there exist sets of polynomials $\{g_n(x)\}$, $\{\Phi_n(x)\}$ such that (1) and (10) are satisfied and

$$(13) \quad \int_0^a g_n(x)g_n(x)v_2(x)dx = k''_n\delta_{m,n},$$

it follows from the last theorem that

$$(14) \quad v_2(x) = xv_1(x), \quad v(x) = xv_1(x^2).$$

We may now state

THEOREM. 3. - *Let $\{f_n(x)\}$, $\{g_n(x)\}$, $\{\Phi_n(x)\}$ be three sets of polynomials that satisfy (10), (12) and (13), respectively. Then the polynomials satisfy (1) if and only if the weight functions satisfy (14). Moreover if any one of the sets is given the other two sets are uniquely determined.*

We may return to the point of view of Theorem 1. The situation is now rather different from that described in Theorem 3. For example let

$$f_n(x) = x^n \quad (n=0, 1, 2, \dots),$$

so that

$$\Phi_{2n}(x) = x^{2n} \quad (n=0, 1, 2, \dots).$$

Then by (4)

$$\Phi_{2n+2}(x) = x\Phi_{2n+1}(x) - C_{2n+1}\Phi_{2n}(x),$$

so that

$$(15) \quad \Phi_{2n+1}(x) = x^{2n+1} + C_{2n+1}x^{2n-1}.$$

Again using (4) we get

$$\Phi_{2n+1}(x) = x\Phi_{2n}(x) - C_{2n}\Phi_{2n-1}(x),$$

so that by (15)

$$x^{2n+1} + C_{2n+1}x^{2n-1} = x^{2n+1} - C_{2n}(x^{2n-1} + C_{2n-2}x^{2n-3}).$$

This requires

$$(16) \quad C_{2n+1} = -C_{2n}, \quad C_{2n}C_{2n-1} = 0.$$

Since

$$\Phi_2(x)' = x^2 - C_1, \quad C_1 = 0,$$

we can satisfy (16) by taking

$$C_{4r+1} = C_{4r} = 0, \quad C_{4r+3} = -C_{4r+2}$$

with C_{4r+2} arbitrary. Thus the polynomial set $\{\Phi_n(x)\}$ is not uniquely determined by $\{f_n(x)\}$.

In the next place if we take

$$f_1(x) = x, \quad f_2(x) = x^2 - 1, \quad f_n(x) = x^n \quad (n=3, 4, 5, \dots),$$

it is easily verified that (2) is satisfied. By (1) we have $\Phi_2(x) = x^2$, $\Phi_4(x) = x^4 - 1$. Then by (4) with $n=3$ we should have

$$x^4 - 1 = x\Phi_3(x) - C_3x^2.$$

It is obviously impossible to satisfy this relation.

From these two examples we see that for a given sequence $\{f_n(x)\}$ that satisfies (2) it may be impossible to find a sequence $\{\Phi_n(x)\}$ that satisfies both (4) and the first part of (1) or alternatively there may be infinitely many such sequences. The question of what conditions on $\{f_n(x)\}$ guarantee the existence of $\{\Phi_n(x)\}$ is left open.

REFERENCES

- [1] J. FAVARD, *Sur les polynomes de Tchebichef*, "Comptes Rendus de l'Academie des Sciences", Paris, vol. 20(1935), pp. 2052-2053.
- [2] G. SZEGÖ, *Orthogonal polynomials*, New York, 1939.